5.4_1 Factor x*2 + bx + ¢ (Day1) (Spring 2016)-s16.notebook April 25, 2016

First Quiz 5-1 (on expanding)

Today's Learning Goal(s): &}]OLI//

By the end of the class, | will be able to: 06’0
a) factor trinomials of the form[x* + bx + ¢ G&
\ “o
OQ Any questions from last day's homework? i{‘p
p. 234 #3,4,5%,6_
bqg) *answer for 5c 1s wrong
$\© Enrichment: pp. 234-235 7d, 12, 15
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Let's Try Knowledge Hook!

Take out your cell phone; seriously.
If asked, set up a student account.

How to Join

2
goon273
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vemonl 5.4 Factor Quadratic Expressions of the Form x2 + bx + ¢ (Day 1)

“The Background” Date:
Expand the following: (Look for a pattern)
D (x+3)x+5 ) (x+5)(x+6 3 (x+2)(x+7
(x+3)(x+5) (xgS)x+6) (x+2)(x+7)

:}(a-éTx.-(—?K-H N :)(Z-Lé&#?\-f 30 :XQ‘I-Q)(-} [
3L 9kprs  IXOLI)E30

4) (x—q)(?—2) 5) (x—g(x—S) 0 (x=7)(x=3) 7 (x—@x—3y)
=Xt § = X 02T -0 dl :Ka-"’“g“‘ﬂ?
3Ka~éx+x
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D x*+8x+15 2) X’ =Tx+12 3) x* =22x+40 >—2b

23 essy = (3)0=Y) = Ge-e-20) 7 1
5 8

Ex.1Factor the following trinomials, where flast term is positive, using the Product/Sum method: I (_{0

=g £
3S 6 £

(
i &
<A 3 Y

4 x> —14x+40 5) x* —13xy +40y° 6) x* +3x+2 7) x*+5x+2

2(e-1)(k-10) =5 ik R o) (rak) DNF
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Summary 1:

When thelast term isPOSITIVE, the two factors havetthe same sign,
and must +~add to get the middle term.

Themiddle signindicates the sign of# both l actors .
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Ex.2 Factor the following trinomials, where the last term is negative, using the Product/Sum method
D x*+18x—40 2) x*—18x—40 3 x*+6x-16
:6<'_9~XK+QO> ] 4o - ()(-30)6(1';? > = (}(—-2 )(x+ 5 \)
420

¥ ~( +HEL (S
y 10 —7_ D 6
5 8

Y3 gt
-+ R x ‘(/

4 x*—14x-72 559 x2+9x-10 6) x> —13x-30

=(x -n) (e + .(\ -1 Yoes10) == (5)(x +23)
[ 7

< 34
S ay
L8
£ 13
Summary 2:

When thelast term i

Sclnegative,the two factors have@pposjie_siggs,
and must & add  to get the middle term.

The middle sign indicates the sign Oﬁfathe_lnnge.r_facior—-

Always Remember:Factoring is the opposite of expanding.

Therefore, you can always check your factors by expanding.

(It may take an extra minute or two, but you will catch when you make an error with your signs.)
For example, you may want to check number 6 from above to see if you have the correct signs

Ex.3 Factor completely.
3x* —=39x+90

=3 (A P~13x 430 )
“3(x=3) (k- (o)
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Today’s entertainment:pp. 240-241 #3ab, 4ab, 5dg, 6a, 7ab, 8ab, 9ab, 11ab
Enrichment: p. 241 #15b, 17b

Quiz 5.2 Wednesday?

(on factoring)
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